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Esitmation of number flux of electron precipitation and
average energy by CNA
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This study shows the relations between CNA and number flux and
average energy of electron precipiation. The used datais CNA
observed by Imaging Riometer at Poker Flat, Alask and particle

flux of less30 keV by low altitude satelite DMSP, when it’'s
conjugate point located at FOV of Imaging Riometer. We specified
number flux variations of 11keV-35keV electron precipitation

cause CNA variations. And it is suggested that precipiation

parameter estimated from CNA is average energy of 30eV- 35KeV
and number flux 11keV-35keV.
goodooooododouoooooooooooooonoon
dodo.0odod ououooooooooooooooon
goo.0obopobobobbobobobobobobobo,0bo0boboooooon
gooooo.ono,0oooooooboooooboooooon
goooodooooo.oooo,0booooooooooooon
oo ooooooooooooooon
goodooooooo,douonooooooooooooo,
000000000000.000000000000O0CNAOOOO
gdodoooooooooag.

OO0000DOO0O0O0O0O0O0O0ODOO0OO0OCNAOUODODODOOOO.oO
gobooooboo,0bboodbobooobbuooobbooonoo
gobooob.obobbooobobuooobbooobboooo
OO000000000DO0OOCNADODOODOODOOoDOOoobooo
OO0O0O00O0OODMSP(OO840Okm OO OOOOODOOOOOODO.
0000000000 (@DOO00O382MHz)O16x160 000000
Oo0000o0o,009kmb0ddoooOoood4ookmd0nooogng
Oo000000o0dooood0o1nkmood.0O0, 1000000
O100000b0.000b0ob00obobobo200b00boobooon
OO00000,000100000000Db000O000bOobDO0n

OCNAOOOOOOODOOOOOobDOoooooo.

19970 20 170 20:23:18-20:24:240 0 0000000000000
0.DMSPO 000 OO0 OO O 30eV-35keV, 1keV-35keV, 11keV-
35keV, 30eV-1keV, 1keV-11kevO 50 00000 0.0000000
00000000000 0000000000000CNADODCOO
0 0. 30eV-1keV, 1keV-11keV, 11keV-35keVO 0 0 000 00O CNA
O000000000. 00000000000000CNADODOO
00000000, 1keV-35keV O 0 30eV-35keVO 0000000
0000000.00, 11keV-35keV, O 0 1keV-11kevO O OO O O
OCNAODOOOOOOOOOO0O0O,000002000000
00000O00.000000000000000.000,
11keV-35keVO 000000000 OOOOCNAODOCOOOOOOO
O00000.0000000000CNADOOOOOOOODOO
000000000.00000000000000,30eV-35KeV
00000000000 Eave= 1.60E+4*A(dB))-1.62E+4, 0 0 O
11keV-35keVO 0 00 000 OO0 O O N=8.83E+6* A(dB)-7.57E+60 [
0.

oo, boobobbbobobobbb,bbbbbbbbbn
goodggo
a.



